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Slope-Intercept Form 

 
∗ 𝑦 = 𝑚𝑥 + 𝑏 

 
slope  y-int (0,b) 
 

     
𝑢𝑝 𝑑𝑜𝑤𝑛
𝑙𝑒𝑓𝑡 𝑟𝑖𝑔ℎ𝑡

 

Find the slope and y-int and graph  
Ex1 )   y=2x+3       
 
 
                                   

 

Ex2)  2x+y = -2        

 

 

 

 

Ex3)  y + 3x = 7 
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Ex4)  3x – 3y = 12 

 

 

 

 

Ex5)  15x + 5y = 30 

 

 

 

Ex6)  2x – y = 16 

 

 

 

Ex7)  y = -5x  
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Ex8)  y = 5 

 

 

 

 

Ex9)  A plumber charge $65.00 service fee and $50.00 per hour. 

a)  Write an equation  
  
 

 

 
b) What is the cost of 

2 1
2
ℎ𝑟𝑠 𝑤𝑜𝑟𝑘? 

  

 

 

 


